i
I
iy
Tl
P=ai
i

1. ¥4
kG4 TN 6 LA ) | e S
BT AT E I R AL 2280 H AT

2. EHEAR

1) FHEI4 WA FE A & R
2) JBATHIM 221 HFH H &% 64 4H23H

E A 65E11H29H

3) PN

4) EBNE

- Etzz@y  AbkEt 5w R



FEH N

Tl
P=si

=
=

HEBAL | AT 6 RN R B ER HEER
H H FEYE U
TEHA - LfE - R =AY VA # 4 B Mmoo R
e S & =X 1, 143, 550
FHE R = = 1, 143, 550
3 R E S = 809, 050 | 3 HLILVESHIE
5 Jy
KONEHRREDH 0, FEE 20
FEYE SR
5 Jy
& sy
4 HR FEE SO A = 334,500 | 4 #RFEEVE SR
10 Jy
RO E e L, S £ 20
Hu T 2 = 11, 675, 840
IR TT R A 2V 11, 675, 840
IR =X 11,675,840 | UAV L —H &
0.28 )1 (km2) K
JE AP 0. 2km2#8~0. 3km2LL T
i@ = 259, 950
BiSiii} = 259, 950
s = 259,950 | ¥T&H
1 =
BA R I BE ot B E AL
1 HE B
B =X 184, 562
RS T ¢ = 184, 562

=R oS KN o723 S



=
=

it
T
iy
%lljll

¥4 | AN 6 )RR E i BB
H H EERE
THH - TfE - FE5) =AY VA ¥ & 4 A RN
Vi Gk ¢ = 1 54,562 | Jik# (it L - 5P
1 Y
%%Eﬁ%u%{?ﬁi% ft 1 130, 000 %%E}Z%Dﬁ%ﬁzﬁi%
1 =
B PRy 2V 1 335, 100
Hoffr i ey 2V 1 335, 100
iR =X 1 335, 100 | pSRMEE
1 =
(X3 Re 2V 1 13, 599, 002
MBI 2V 1 8,510, 998
R 2V 1 8,510, 998
ilf=er i X 1 22,110, 000
Bt X 1 127, 200
im GREFER) X 1 127, 200
N BR B SRR = 1 127,200 | ZNBAAL S S VERK
1 ESE
EREM (2 OtFEMmER<) =X 1 127, 200
Z O FA = 1 68, 497
— RS L =X 1 104, 303
SRR 2V 1 300, 000

9= Etzz@y  AbkEt 5w R



%lljll
I

FEH N

HEBAL | AT 6 RN R B B ¥R
H H KRS
THH - TfE - FE5) H AL ¥ B & %A OB ER
SEVS A X 1 22, 410, 000

=R oS KN o723 S



